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www.Padasalai.Net Tranpsc com
Standard XI11
MATHEMATICS
T 100 he Marks: 50
Choose and write the correct answer: 50x1=50
(7 7 =7
Loadi D= =1 11 7 [ thenmatrix A =
11 $-92
1 2 3 1 =2 3 -1 2 3 I 0 0
D23 Wi2 3 a1 9|2 3 -1 dlo1 o] []
=3 1 2 -3 1 .2 -3 1 2 00 1
-3 ‘4
2.-1f A =[ _\]‘then adj=
o 2
2 = 2 4 2 -3 3 6 '
o ey ] ) Y g N (A R
‘ 2 0 =7
3. Therankofthematrix | 0 3 | |is
00 1 -
a) 1 b2 0) 3 woand)d [
- a -
4. Themverse efthe matrix : J i
-2 n -2 -1 (=2 -1) 2l 1)
-5 )| _s —'zJ IN-s 2 D _e J L]
) (5 21 ' "
S.IFA= L ZJ then |A|= .
a) —4 - b4 c) 14 d) 16 []
6. I A'A™ issymmetric, then A® = : .
D) A b) (A7) Q) AT d) Ay’ Il
r’ 1; B
7. 1f ,\:(5 _2) be suchthat AA™ = A | then ) is
a) 17 b) 14 019 d) 21 el
2 3 4
8. The rank of thematrix | 2 4 6 8§ |is
-1 =2 -3 -4
W b)2 04 H3 [ ]
3 4
. 5 5
o IrA= : and AT = A-', then the value of x is
>
. 5 :
el i) e’ 4 '
) = B ) 3 d) < sl
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e n _[cosO _sin® : '
10, If A w.padasafai thep | A |= www.TrbTnpsc.com

a) 0 b)2 ' ol d)4.- | D
3 =3 4 | ;
ILIEA={2 -3 4| then adj(adjA) is
0 -1 1
3-3 4 6 -6 8 1 00 000 '
D2 -3 4 DY AR ol !0 o120 O
0 -1 | 0 =22 o P2

(12 _19 |
12. If (AB)™ = a (1 - -
(_19 27JandA —[_2 ; ,then p-1 = o
(8 5 i ey g -5 ‘
RACEIN Ol 1) Dl=z\0b L]

0) inofl 4 , '
s anc o I X »then [adj(AB) |=

a) —40 b) -80 o
7 ©-60 . d)-20 [1
14 IfP=|1 3 9. is the adjoint of 3x3 matriannd[Al;—'-4,then.xis
274 <2fusr TP ' a '
a) 15 ' |
)15 b) 12 S e g D
15, I'Aisunon-singy; ix stch =L {22 | 7
sigular matrix such that A-! = _ \ then (A™)!' =
. W -y W e NI {.:
=1 2_\| 11 (2Y. (-4 =) s
.a) ‘; 41 h) o ,1' C)l ' o a j ‘73 ]
N : \—IN=4 ' \_1 _3J a) 2 —-4J I_:|

-

16. IfAi -singular matrix e |
_ 1Isanon smgulqr_matnchh that A~ =(—2 :l),then (AT)" S

;1) {5_ ‘2) ; 3 -3. : -1 =3 o
" w| o, C)(7 5) o (—5, 3}

. 2 5
AE( cos® sin@ '

17. 1 . jay=[ X0 3
A -sin® cose] and A(adJA)_(O ],then k=

a) 0 b) . i N
. sin® ¢) cosf ]
1 -2y (6 0 | ' Sl -
18. If A = o | :
1 4 0 6)°en A= - .
1 =2)\ ¢ ‘
a)( ] - L B 4 2 § .2
B L I M A y am
_ 2 1
19. IFA=| 2559 | et S
B g 4 8y a,; |thenthe value of a,, 18
; . a3l a_\] an T
a)0 3 : , :
SN 20, If |adj(ade).|.=|Al",thel;)ﬂ:ezorderofth VEF " g m
B : :{;_\_;_‘i;-\a)j’ by4 E5!~=.quarema'mxAls : :

N ) ' - ©)2

- d) s :
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AT T T ] J

7 .
21. 1If AW{/XV-Fia lanahay Nt = www.TrbTnpsc.com
T |
2) A b) = ¢) 37" d) 27" ]
22. IfAisa 3x3 non-singular matrix such that AA" = A" A and B=A"'A" then B B'=
a) A b) B : o) I, A [
3 =2 ladi B| _
23. If A= : .B=udj A and C=3A,then IC|
& t - . d) |
2) 3 _ ) 2 = )7 ) [ar]
1 lang-
24, If A= 0 “land AB=1,,then g =
—tﬂn;‘ |

a) (COS ‘QJA b) (0052 %]AT ) (cos 9]1 d) (sin’g)/\ ‘ I:I

25. IfA,Band C arc invertible matrlccs of some order, then which one of the following is not true?

34. Modulus of 12+ 5i is
a) 12 * b)s - c)13 d)0

3 : )
C 35 If Z—-z'}=2,thenthcleastvalueof|z] is

F1. * od B2 O3 a5

a) adjA =|A|A™ b) adJ(AB)—(adJA)(adJB)
¢) det A~ = (det A)' . d)(ABC)' =C"'B'A" []
102 ’ \
26, T i"=
a) —[+] b) ; ‘ o) -i ‘ d) —1+2i M
27 iifit....i'= _ : .
a) 0 b) -1 c) i e d e [:J
Y+'\'1 C s 3 . .
2, [ —(5—.1J =
\U=i, " \1+1 . ) [~ |
a) 2 b) --2i ‘ c) i , d) —i ]
z+3 i+4i
29. If'z—Si 5 ,then z= |
2) 2-3i ‘ b)—2+3i .. ©)2+3i d) —2-3i ]
30. Which one of the poinis i,—2+i, — 1 +1i and 3 is farthest from the orlgm'? :
a) i b) —2+i _ c) —1+i .. )3 [:0
31. Modulusof3_+_4 |
1 3 " 4 2
2) 5 . b_)_ - ©) 3 d) 5 [] _
32. Principal argumentof z =1 is
; n -
a)0 ' b ¢) 5 d) = L]
33. Principal argumentof z =—i is . -
25 b) 0 on - d-w P
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36.

40.

41.

42.

44,

45.

46.

47.

48.

49.

50.

' . 1+z .
If | z|= Witon Padabial. NeT 1S - www.TrbTnpsc.com

l :
a) z b) Z c) = d) 1
If T s purely imaginary, then | z| is

l :
a) 3 b) I , c)2 d)3

- l l+\/;1 )
1¢ value of l—\/?;l 1S

. 27 o . . AT
a) 013-3— b) c1s§3—n— _ . ) —cxs% d) —013—3'

. If o and B are the roots of x2+ x +1 =0, then o*® + 2% is

-

a) -2 B -1 )1 e Y a)z

The principal argument of _1+i 18

-5n -27n - -3n -7
S b5~ I ST |

. N\K
The product of all four values of (COS g +isin g'] is

-2 T by S 9lasl T @2

L1

[]

=
[

]

L__l _

If z,,z, and z, are complex numbers such that z, +z,+z, =0 and |z |=i ZJ |=|z,]=1, then

z +ut+zr=

a) 2 b2 . 0 LY B0

. Tuesolution cfthz equation | z|-- z=1+2%1is

a) %—2i b) 129-+2i =2/\ o) 2‘%' \ d)2+—;-i'

The conj ugate ofacomplex number is _l 5> then the complex n@ber is

a) 1 b = o6 = d) <19
i+2 i+2 1-2 i=2

LSLL LI ‘ : - £ 8 '- : E

20 - By, O ¢) -1 Q)

If|z-2+i|<2,then the greatest value of |z| is ‘ v o %

)32 b)V3+2 ©) J5-2 A 542

Ifzis acomplex number such that z e% and z-ié eR,then|z|is - »

2) 0 0 h) 1 02 )3

If z 1sanon -Zero compléx number, such that 2iz* = Z then | z| is |

a) SR D) S 02 B3

The pnncipal argument of (sin40” +icos40°)’ is . | _ |

a)-1100 -~ b -70" ) 70" d) 110°

Modulus of /3 —j is : |

a)2 S B0 c)1 d)4
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